UNARE O N TTER 7
il | 18 FE 8
HoL| 8 LBk 8
—If | 8 B 18
FHi| 8 NLFS 8
Fuli| 8 8
BAR | TreRsy | BAR TTER )
g | 17 FE 8
HIL| 9 LBk 8
—IF| 9 U 13
FHi| 8 A 8
Fu | 7 13
BAR | sk | BAR TR )
Zifm | 11 F4H 10
G | 10 LBk 10
—Hf | 10 U 11
FHi | 10 A 9

FAi | 9 10
BAR | sk | BAR TR 5>
5 | 13 FE 9

TG | 10 LBk 10
—1F | 10 WU 9

ZH | 10 NLFS 10
KAl | 9 10
BAR | Frwksy BA 57 TTER >
25 | 13 SR 9

HIC | 11 LBk 9

—1F | 9 WU 11
FHi | 11 A 9




FAi | o 9

UNARE O N TTER 7
2. | 14 FE 9

TG | 10 LAk 9

—Uf | 12 WU 13
FHi |9 NLFS 6

ZAl | 7 11
UNARE v O BA 5 TIER
2 | 13 FiE 8

I | 8 LBk 12
—Uf |7 U 13
FAH | 11 A 9

ZAl | 9 10
BARE | FreRsy | BAR TR )
2. | 12 FH 10
TG | 10 LBk 10
—If | 8 WU 10
FHi | 10 A 10
FAl | 10 10
BAR | sk | BAR TR 7Y
&im | 11475 | = 9.5
TG | 9.3 LBk 9.85
—Uf | 9.15 B 11.475
ZHi | 9.8 A 10
Al | 9.85 9.5




251 122.475+15.5%2=153.475 13.9%
H I 85.3+9.5%2=104.3 9.4%
—If 82.15+8.5%2=99.15 9.0%
F A 86.8+9%2=104.8 9.5%
F 77.85+8.5%2=94.85 8.6%
FH 80.5+8%2=96.5 8.7%
HLBk 85.85+8%2=101.85 9.2%
B 109.475+14%2=137.475 12.4%
PO 79+8.5%2=96 8.7%
90.5+10.5%2=111.5 10.1%

M43t 1100,

FirA SHANA VP50 W
F—A 78
F el 89
=W 84
S0uA |78
FhHA 84
HNA 93
FHd 86.5
FINA |78
FhA 82

83.07




IR ARV -

H—H 86
E it | 86
F=A 72
FVUH 77
FAHA 75
EYavil 93
FLdH 78
#\AH 74
LA 69




